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a?b + 2ab — 2a — 4, 2a® + 4a — 2ab — 4bE 2

Q14129

@ a @ a+b @a+2

@ a-b ® ab-2

B

a’b+2ab—2a-4 =ab(a+2)-2(a+2)
=(a+2)(ab-2)

2a® + 4a — 2ab — 4b = 2a(a +2) — 2b (a + 2)
=2(a+2)(a-D)




® ma+ mb—-m=m(a+b)

@) 6402 + 32ab + 4b* = (8a + 2b)?
® -4a® + 9b* = (2a + 3b)(2a - 3b)
@ x*-5x-6=(x—-2)(x-3)

® 2x% = 5xy + 3y* = (x - 3y)(2x ~y)

B

@ ma+mb-m=m(a+b-1)
® —4a® + 9b* = —(2a + 3b)(2a — 3b)
@ x?-5x—6=(x—6)(x+1)
® 2x% - 5xy 4+ 3y? = (2x - 3y)(x - y)
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9x% = (m = 5)xy + 64y? o] HAFA 0] Hi= m o] FE]
H?

® -53 @ -43 (@)10 @ 43 ® 53

B

9x2 — (m — 5)xy + 64y> = (3x + 8y)?

= 9x? + 48xy + 64y?
(m-5) =484 @, m =53
(m-5)=-48Y W, m = -43
o h3-43=10




6.

0<x<7dm, Va2 = T6x+ 64— Va” + 10x + 25 & 13| 5147

@—2x—|—3 @ 2x+1
@ 3x-1 ® -3x+1

® -2x-5

B

Va2 = 16x + 64 — Vx2 + 10x + 25
= /(x-8)2- \/(x+5)?

= |x—8 —|x+ 5|
=—x+8-x-5=-2x+3




4a® — 9b*
® (2a+ 3b)(2a - b) @ (2a+ b)(2a - 3b)
@) (24 + 3b)(2a - 3b) @ (4a + 3b)(a - 3b)

® (2a+9b)(2a-b)

‘ 4a? - 9b? = (2a)? — (3b)% = (2a + 3b)(2a — 3b)




@ (x= V5)(x- VT7) @ (x- VB)(x+ V7)
® (x+ V35)(x-1) @) (x+ VB)(x + V7)

® (x-V35)(x+1)

‘ 4 (VB4 VT)x+ VB5VT = (x+ V5)(x + V7)




9. (x+5)(x-6)+10 = JEastH?

@ (x-2)(x+10) @ (x+2)(x-10)
@ (x+2)(x+ 10) @ (x-4)(x+5)
@) (x+1)(x-5)

(x+5)(x—6) +10 = x> —x—30 + 10
=x2-x-20

=(x+4)(x-5)




O x2-3x-4=(x-1)(x+4)

@) -4x+3= (x-1)(x-3)

® x? - 8xy —20y? = (x - 2)(x + 10y)
@) + 130y + 222 = (x + 2)(x + 11)

® x* +5xy = 6y* = (x +y)(x — 6y)

@ (x+1)(x—4)
® (x+ 2y)(x—10y)
® (x—y)(x+ 6y)




° = )5
11. o2 T 4] x%y — 8xy + 15y 9] 147} opd 722

® x-3 @ x-5
®y @ (x-3)(x-5)

x%y — 8xy + 15y = y(x? — 8x + 15)
=y(x—3)(x-5)




12, 20x% +22x+A = (4x+ B)(Cx+3) € W, ABC 9] gto g dure
g 1=2H?

@ 40 @60 ® 70 @ 90 ® 100

~&B ~

(4x + B)(Cx + 3) = 4Cx* + (12 + BC)x + 3B
4C =20, .C=5

124+BC =22, ~B=2

A=3B, .A=6

. ABC = 60




13. o= oA eEsh

e

AT A 2= A2?

flo

@® 242 —x-6=(2x+3) (x—2)

@ 2x2—xy-3x—-y*+3y=(2x+y-3)(x-y)
® 22 +4xy 44y = (x +2y)°

@ 9x% - 6xy +y> = (3x - )

@9)62 +25y? = (3x + 5y) (3x — 5y)

® 9x2 + 25y2 = (3x + 5y)? — 30xy




© 2a®-5a+2

© a2-2

@ a®*+a-6

@ © ® 0,0

©a

®o, e

® 9,0,6

)(a=2)

V2)(a - V3)

)(a=2)

@ (a+3
© (a+
® (2a-1




15. (x+5)%—2(x+5) & Q5Es|5H?

@ (x+3)(x=5) @ (x-3)(x+5) ® (x-6)(x+3)
@+3)(x+5)  © (x-6)(x+5)

(FA)=(x+5)(x+5-2) = (x+ 5)(x+ 3)




16. Tha 3 (2 +2x)" = 11 (s + 2¢) + 24 ©] 147F ok 7127

®x+4 @ x+3 @x—l—Q @ x-1 © x-2

B

24+ 2x=A B 25

(A1) = A2-11A+24 = (A - 3) (A - 8) ot}
A

(x> +2x-3) (x> +2x-8)
—(x+3)(x-1)(x-2) (x+4)




17, (x-2y)(x-2y-3) - 102 A5-Eofshd
(x=2y+m)(x=2y+n) 4, mn 2] 2F-2?

©_10 @ 3 ® 10 @ 2

~&B

x—2y =12 o4,
H(t-3)-10=r2-3t-10
=(1-5)(r+2)
= (x—2y-5)(x -2y +2)
om=-5n=2

S.mn = —]_0




18. (x+y+4)(x—y+4)-16x S HI2A] A5t A9

D (x—y+4) @ (x+y-4)?
® (x-y-2)(x+y+8) @ (x+y-1)(x-y-1)

® (~x-y+4)(x-y+4)

~&B

x+4 =12t
(t+y)(t—y) - 16x
=1 -y - 16x
= (x+4)?-16x -y
= (x? +8x+16—16x)
= (x? - 8x + 16) -
— (- 47 -7
=(x+y- 4)(x y—4)




19. (x+))(x+y+2)-3& A5 ohA?

O (x+y+1)(x+y-3) @ (x+y-1(x+y-3)
@(x+y—1)(x+y+3) @ (x+y+1)(x+y+3)

® (x+y-D(x+y-2)

~&B

x+y=A=l 5o,

AA+2)-3=A2+24-3
=(A-1)(A+3)
=(x+y-1)(x+y—+3)




20.

D 2 )3 ® 6

a+b=t2fotH,

t(t-3)+2=1r-3t+2
=(t-1)(r-2)
=(a+b-1)(a+b-2)

DA m+n=1+2=3 0|t




21.

(x+2)2 - (x+2)(y—1) - 6(y - 1)2& A=h5tA?

D (x+3y-1)(x—2y+4) @ (x+2y+4)(x-3y)
® (x+3y)(x-2y) @) (x- 3y +5)(x +2)
® (x-3y—-4)(x-2y+1)

~&B

x+2=A, y—1=BZ X|35}H
A% —AB-6B% = (A +2B)(A - 3B)
={(x+2)+20- D} {(x+2) -3 -1)}
=(x+2+2y-2)(x+2-3y+3)

= (x+2y)(x=3y+5)




22 (x-3)(x+1) - (x-3)+6(x+ 1)? & ARa|}A?

® (3x+2)(x+2) @203c- 1)(x+3)
® 2(3x+1)(x-3) @ 4(2x-2)(x+3)
® -2(3x-2)(x-3)

~&B

x+1=A, x-3=B=& X|¥s}H

6(x +1)2+(x=-3)(x+1) - (x-3)2
=642 + AB- B> = (2A + B)(3A - B)
={2x+1)+ (x-3)} {3(x+1) - (x-3)}
=Bx-1)(2x+6) =2(3x-1)(x+3)




23. 2(x+2)2 4 (x+2)Bx—1) = 3x - 1)2 = —(ax + b)(cx + d) & U,
ab + cd ©] & F3H? (H a, ¢ = FF)

@-1 @3 ® 0 @ 2 ® -2

~&B

x+2=A, 3x—1=BE *|&olH
2A2 +AB-B?>= (2A-B)(A+B)
=(2x+4-3x+1)(x+2+3x-1)
—(x—=5)(4x+1)
cab+cd=1x(=5)+4x1=-1




24. (a-b+3)°-(a+b+3)? S 73] 3 AL9

@ -4b(a-3)

@ —4a(b+3) ® -8b(a+3)
@ —4a(b-3) @—4b (a+3)

~&B

(a-b+3)?-(a+b+3)>
={(a-b+3)+(a+b+3)}
{(a-b+3)-(a+b+3)}
= (=2b) (2a + 6)

= —4b(a+ 3)




25.

(FA) =2 —x+y-xPy
:x(xz—l)—y(xz—l)
=(*-1)(x-y)
=@+ -1 (x-y)

Cx+1l+x-14+x-y=3x—-y




26. ab-b-a+ 1S 82 JAF-ES)H A9

O @b+ @ @ro)b-1) Ga-1e-1)
@ (a+1)(b-1) ® (a-1)(b+1)

‘ ab-b-a+1=bla-1)-(a-1)=(a-1)(b-1)




27. oS F a2 —y? —2x+2y 9 A5 AL?

® x-2 @ x+y @x—y

@ x+y+2 ® x-y+2

(x+y)(x-y)-2(x-y) = (x+y-2)(x~-y)




28. X —dxy+4y* - 22 & et AREE 1ol
FI2H? (HF, a>0,b>0)

® a®+ 2ab+ b* = (a + b)?
@)a? - 2ab + b? = (a - b)?
@)a? -2 = (a+b)(a-b)
@ xX*+(a+b)x+ab= (x+a)(x+b)

® acx® + (ad + be)x + bd = (ax + b)(cx + d)

X2 — dxy + 4y? — 22
=(x-2)?%-22>d?>-2ab+b* = (a-b)?
=(x-2y+2)(x—2y—2) >a®>-b?> = (a+b)(a-b)




29. P +y?-4-2xy 9 AT E = A2
@x—y—Q @ x-y-4 @ x+y-2
@ x-y+4 ® x+y+2

P4y -d-2xy = (x-y)?>-2°
=@x-y+2)(x-y-2)




30. x®-2xz+72-y? & AEalotd?

@ (x+y+2)(x-y+2) @ (x+y+2)(x-y-2)

® (x-y+z)(x-y-2) @ (x+y-z)(x-y+2)

@(X+y—1) (x-y-2)

-+ 2 -y =(x-2)° -y
=@x-z+y)(x-z-y)




